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No. of Questions: 45 _ Time Allowed: 55 Minutes

Questions on Page Nos: 1 To 7
Q 1-15 Fill in the blanks with suitable word given at thele

Negative Marking: Yes

Many critics of our Public Schools maintain
athletics than in the academic sphere, and, i
maintain that it is tyranny to compel boys wi
football field. These Q4 left to themselv
enjoyably on some profitable and creative hobby,
assumption that every non-athlete has a profitable
engineering or stamp collection.is b
__Q6__ contact with other
them fiercely from the .

Q2 achievements in

o compulsory. They

ona mcket or

or lack of it. __ Q10__
ge. The community must be

physical, Q12 we are
scle bound weight lifter may
but he would cut a poor figure,
y matter to education.

D) was s'pend

Q4
A) shall be
B) should have
C) should be
D) shall have
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B) woulc
C) could
D) because
Q10
A) it would be well
B) it would be better
C) it will be well
D) it will be better

Qi1
A) put emphasis
B) get emphasis
C) lay emphasis
D) lie emphasis

Q12
A) rather
B) subsequently
C) further
D) unless



QI8 For a year now, Mr. Harrls
A) had been organizing
B) was organizing

C) has been organizing
D) organized

Q19 By the time it ..
A) is/ will have worked
B) was / could have worked
C) has been / will be working
D) would be / had worked

Q20 When Bilal called me 1 ............
A) remembered / had gone
B) was remembering / would be going
C) remembered / would go
D) had remembered / will go
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harity balls to collect money for the homeless.

.... at this firm for about ten years.

. fishing soon.



Q21 Scientists ..... hard to find a new and effective treatment which ..... most scary diseases.
A) have been struggling / will cure
B) struggled / had been curing
C) will struggle / have cured
D) are struggling / are being cured

Q22 In two years, many of our school friends ..., and then
international business going.

A) graduated / had had

B) are graduating / have had
C) have graduated / will have
D) will graduate / will have

Q26 He has recently ............
A) adopted
B) relinquished
C) adjusted
D) benefited

Q27 The rise in the prices ............... her to sell her share for a nice profit.
A) achieved
B) annoyed
C) meditated
D) facilitated

A) famous -
B) renowned

C) respectable

D) notorious



Q29 Visibility depends ............ upon the concentration of water or dust particles in the air.
A) rapidly C) chiefly

B) obstinately

Q30 This magazine is designed to help satellite eqt
decisions and keep ahead of new developmentsi’

Q31 The latest figures concerning the compan 1
A) determined
B) intensive

Q32 Sponsorship is béi

Political freedo justice i in the seat of authority, where all the orders and

degree work in aws which man neither made nor can alter — where the unwise

are directed by the § with power use it for the common good.

form of constitution what it may. A country not so
governed is in bondage, be so universal. Where justice is supreme, no subject is
forbidden anything which he h 10 do or desire; and therefore it is that political changes,
revolutions, reforms, transfers of pawer from one order 1o another, from kings to aristocracies, from
aristocracies to people are in themselves no necessary indications of political or moral advance. They
mean merely that those in authority are no longer fit to be trusted with elusive power.

Q35 What is the author’s conception of a free country?
A) one whose government is dependent on constitutional form of the government
B) one where the government is in the hands of the majority _
C) one where the government is inspired by what s right for the good of its inhabitants
D) one where the manner of the government rather than the motives that matter

Warm blooded animals have elaborate physiological controls to maintain constant body temperature (in
humans, 37° C). Why then during sickness should temperature rise, apparently increasing stress on the
infected organism? It has long been known that the level of serum iron in animals falls during infection.
Garibaldi first suggested a relationship between fever and iron. He found that microbial synthesis of

(go on to the next page)



Y CROSSIN CORRESPONDING LETER

TI1-EN / ’S

siderophores -- substances that bind iron -- in bacteria of the genus Salmonella declined at
environmental temperatures above 37° C and stopped at 40.3° C 'I‘hns, fever would make it more

reported that of iguanas infected with potentia m,A. hydrophilia, more survived at
temperatures of 42°C than at 37°C, even e lower temperature. When
animals at 42°C were injected with an i s increased significantly.
Research to determine whether similar phe ar in- s sorely needed.

Q36 The passage is primarily concerned with aff
A) the role of siderophores in the synthesis o
B) new treatments for in

cans at the bottom of the sea.
r night for them. There are no

d spent his life in darkness in bed,
with t shows us the ground beneath our feet
and the hooting stars, lightning, and the sunset.
It shows us sound of the sea, and music. We feel, we
taste, and we s
Q38 Judging from the ! 's story is mainly about ....

A) life of sea creatures Ga

C) how wonderful our lives C
D} the superiority of human be ver some creatures in terms of senses

Q39 We discover that the sea creatures in the story ..........
A) have the same senses that we do
B) have no sense of hearing as well as sight
C) hear the sounds of the ocean
D) live in darkness because no light reaches to the bottom

Q40 In the passage a child in darkness is likened to ............... .
A) someone who lives where there are no seasons
B) an animal without the sense of touch
C) a sea creature with no seeing or hearing ability
D) a deaf child unaffected by the environment

(go on to the next page)




Official records state that the Pueblo Indians lived in New Mexico and Arizona . The word "Pueblo":
comes from the Spanish word "pueblo," meaning town or village. The Spaniards found these Indians

in order that they could be reached only
ould pull up the ladders. They grew
wove cloth, made wonderful
they were at hand-craft.

living in apartment houses, sumcofthmnunthemle of &
by ladders. Whenever they were attacked by Apaches
com, which they watered with water flowing
baskets, and created jars and pots out of e

Q41 From the passage we undetstand that the Puek
A) cliff dwelling
B) Apache Indians
C) apartment houses
D) water flowing down in ditches

Iritish Government admitted its
wrongs. King George III, who had
rc lost, regained his spirits and proved
supported the insurrection, in any event,
* quickly forgotten in the era of good feeling
ified government for the first time, and a new capital
Manhattan, in the fertile fields of Brooklyn.

Q44 The passage states that the B
A) was punished by the leaders
B) in a way, apologized for its for stakes after the rebellion was over
C) agreed to release the rebels from the prison
D) was supported by the majority of the colonies

wesss @

Q45 It's clear from the passage that ... S
A) ng(ieorgewaaputmammml hosputalwhenﬂchmencancolommrebeﬂed
B) one third of the mlomstsmhﬂ&dmﬂ;eattampmd rebellion
C) afmrﬁ:erevolt,thekingwasmtasmgrya‘spmplehadexpectm
D) the rebels were successful in their attempt to gain power

(Stop. Do Not Turn This Page. Wait for the invigilator’s sicnal.)




PART 1 MA.THECS M.C. q*
Number of Math M.C. Questions: 50
Questions on Page Numbers 8 to 14

46, A ‘man buys 2 machine under the deal, that he pays (
repays the rest of the cost plus 13% simple inte
amount of disbursements is immaterial, only

Time Allowed: 75 minntes

Negative Marking: Yes

% of the machine’s price as downpayment, and
thésprice of the machine) within 1 year. The
. [fthe ‘entire payment js not macde

by one year of the purchase, the net payable ir ase of the interest rate, which
rises as 3% per vear (following the first year), | f the entire payable (including
the down payment) amounting to $10, lie in :tialnuat of the machine?

A) $9,051.72 B) $8:

v,

47. =25 and y = -2, what is o=

A) 125

48. 12 computers o
equation -iterativ

§9,202.03

5 hours

Can’t be found,
3 and sugarcane, if the following table
5,200 m 40,000

52. Consider the following Vem
P(1) = P(2) = P(3) = P(4)

2 and P(6) = P(7) = P(8) = P(9)
value of P(A4) and P(B)?

| el o2 o3

o8 o9 10

A)  P(A) =30 and P(B) = /5.
B} P(A)=18/2 and P{B) = 13/22.
C) P(A}=3u and P(B) = 13/ss.
D) P(A) =/a and P{B) = 3/10.

53. For the algebraic inequality |#? — x — 6] < 0, which of the following is true ?
A)  The solution is {x < ~2} U {z > 3}
B) The solution is {z < 3} N {z > -2}
C)  The only possible solution is x = 3.
D) There is no solution to this inequality.

ch describes the samﬁia. space and the events 4 and B. If
= P(10) = 320, what is the .



PART II: MATHEMATI s M.C Q’s

54. If glz.y) = |z — 3|, find (3, —2).
A) 3 B) 9 C) 1 D) 7

55, In a right angled triangle if the length of the hypo . ‘unit, what possible choices between
5 and 12 units, are there for the perpendicular and
A) 5 units and 6 units,
B) 6 units and 8 units.
C) 3 units and 4 units.
D) Impossible to determine,

56; Consider-the figurs given below:

Fmrﬂd‘&m
The base of the whi it is h.

~ base of the parall the ares
region, in the p :

. A) Cy :

57. The until : the skies of ups, but
now e n > destru o8
The in 19 period: ion has

ties,
' 2
3 and
and 6
te L -2 units southwards, w
the orij il coordinate system?
Bj i D) (0,6)
59. The +eis ues of a, b, and c. Identify which

I-ql " -»1 ;e .7:':
'a--f,f-{‘i '

B0 Rmmapmw{ywthmnmmmmmm thﬂﬂo]ldwl:ngstawmmr.

- should be true.
A) Al factors should be even.
B) Scmefmﬁmshnaldbam,someodd,mnepme
C) Some factors should be prime numbers, nthﬂsahnﬂdbenmprhneaddnnmb&ﬂ
ey 2| Aﬂwm&dhpﬂmenumham
61, If {/Bzy — 18 = 4z — 8y, what is the value of (2 +4) in terms of y7
- A) . B) & O 0 D) 2k
62. The inequality: : -
(z=8)(z+3) £ =10

(go on to the next page)
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has the solution:
A) —2€2€7
B) {rg-2tUu{z27}
~18gxg—2
D} {x<-13}uixz-2}

6i3. Pick the ordered pair which gives the solution tg

ar equations.
Wz —3y=4
Bz+y=1

A) (2,3) B) (5/23, —14/23)

64. Lot h(z) = 42, where f(z) = |z| — 3 and g(z) = m 4
At what \ralueofzdouuthe funetion h(a:}a:b‘tainm 1

y3), (8,—5), (—3,—1), and

D) 204+ 4v5
mdhasa'diamémqfﬁ units.

. j D) 3.14 units
69. il s the tWo equ&im 1, and each successive number is

D) 33

70. A homogeneous equation of degree two, viz, az® + 2hay + by* = 0, represents:
A) A circle in the Cartesian coordinate plane.
B) A parabols in the Cartesian coordinate plane.
C) A pair of straight lines passing through the origin.
D) A straight line passing throughthﬂ"wm'hftwbmﬁi;mlhiﬁﬁ.
71, Assume that a commodity’s net worth twa years ago was Rs. 50. At that time the government imposed
sales tax on that praduet at 5% of it net worth. In the successive year the manufacturer raised the net
price of the commodity by 10% to take care of budgetary inflation. In the meanwhile, the goverment
also imposed (another tax) 19% VAT (value-added tax) on the net worth of the product. What is the
total retail price of the product now, rounded upwards to the nearest rupee?
A) Rs. 60 B) Rs. 68 0 Rs. 63 D) Rs. 60

72. Let A and B be two probabilistic events with non-zero probabilities, i.e., P(A) # 0 and P(B) # 0.
Events (A and B) are defined as being mutually ezclusive if AN B = [}(nnmptyseﬂ,mwm&me
P(An B) = 0. The probability of oceurance of the Event A, given that Event B definitely ocours is

given by P(418) = FA0E) pcnts (4 and B) sre defined as being independent i P(AIB) = P(A)
Forsmhmtsaa&uéfg which of the following must be true?

(2o on to the next page)



PART IT. MATHEMATICS M.C. Q’s

I} Independent events (such as A and B) will necessarily not be mutnally exelusive,
1I) Dependent events (such as A and B) will necessarilyfbe mutually exclusive.
111) Mutuslly exclusive events will necessarily be depéndent.

A) Tonly.

B) I and III only.
C) MIonly.

D) Iand ITT only.

74, Prime numbers are numbers greater than l
1 or else by themselves, Which of the follc

IJ m Fmduﬂt uf two mﬁ“m nuinb iJl‘l.:
11} The product of two - ne numbers
m} The produﬂ of two i me numbers ms g
A) Tonly.
B} Ilo
C) Ian
D) 1

74. Sup

int Ters different from mej' ms‘t
ve and positive infinity)
p=1&qeZ\{0}.

77. Consider the figunesh or cirele is 6 times the radius of the smaller circle.
horizontal line (nea thahmaoftheﬁgum]ihﬂdmts,ﬂnﬂ:hemofth&

A) 36(1 — =) B) 354 —n) C) 140(4 — =) D) 140(1 — )

78. How many distinct waysmmdmasamp]aofmhﬂlsmthomreplmmmmr&omabagmmammg
10 red and 4 blue balls?

A_) 81 B) 20 c) © 4D o) 210
79. Which of the following statements are true.
1) Ewery rhombus is a sguare.

1I) Every square is a rhombus.
111} - Every rhombus is a parallelogram,

(g0 on to the next page)
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PART II: MATHEMATICS M.C.Q’s :

IV Every suralelbgsain isn olopnhig.

A 1 omly.

B N oand 114 only;
@) Lol 11 ondy
Ly IV only

AU Wit wonld be the vale of Hs. 1RO aify sitnple fptenet of 180

T yoarl

A) R, 300, 060 1) Rs, 1 . 210000

S Wihich of the following stitements teie corred
11 Every squilicerad priangle is also an isaseoh

i A right aoplod seignele gkt B ool
I} A right angled trinng
Al Londy
B 11 ouly
€y B oand 1
11 and

2, Wiidel ¢

‘hich of the following graph

il The e, nhﬁd‘
The rogion: shodid fm al‘oﬂp gﬂn thit vnrtfruf The rogiar ﬂi mi' gy
A uifhuur thie wertice it ) Hin ) without the vertical s

2 of the ellipse is Gem, 5 aqual 1o the 1|elghr. of the trangle
ollipee s one half of Tte width. What is the aren of the grey

4. Consider the fzure showgs helb
antd is 9% of its bhuse. 'The heig
shindied toginn?

Naie: Figurs no drawn to scalp

A 24 — 187 B) 48 — 187 C) u4-F D 24— 2

85, How lomg will it vike for the Toitial principal smcnnt of B8 100t boeeouie av Wist it double (118 invesusd
today where it enins & compound fterest 4t the rate of SU% every six months? Compound inferest implies
fhat the apmount of tterest, afier cach {ompeunding) e period, 1 added o the princeipal amwnt and

{ge on to the next page)




mnrr 1 MMHEMATICE M.GQ’:

yualifies for interest during the next period?
A) Between 6 months and 1 year.
B) At least 1 year.
) Between 1 year and 18 months.
D) At least 2 years.

86. Regarding the figure shown below, which of the
fines)

80, There are two sizes of apples, large and small, Thayhmwbapmhd{nmmdm Earaeand
small, Each of thess kind, cannct hold only one kind of apples without letting empfy spaces remain.
mmmmhm&yﬂmﬂwmmwmmmﬂmmmmwmm
‘small hoxes can be completely filled by placing 10 large and 5 small apples only. How many large and
small boxes are required to pack 500 large and 200 small apples so that no empty spaces remain, and a
minimmum possible number of small boxes are required?

A) 31 large and 1 small box.
B) 32 large and 1 small box.
C) 19 large and 1 small box.
D) 29 large and 4 small boxes.
0. Acumismmhthecmmaphneus’ﬁpi 9. Whnxmmwwdmmoffhapdmﬂ
hich this curve meets the coordinate axes?
A} (DI})
B) (0,0) and (0,9).
C)  (+£3,0) and (0,£3). ;
D) i is & small circle which doesn’t meet the coordinate axes,

(go on to the next page)




91. logigl000 =7
Al 3 B) 4

92, Which of the following are correct with respect to

3.4 D) 43

) |z]=-zifegl
M) zl=zifr=0
I} |zl =—sifx <0

A) Tand I only.

OeS :he ilmuﬂn &ttm‘ iu muﬁt

A) Smallest: 8 <3 £6; La.rmt 0gz<gl

B) Smallest: -9 <z € —10; Largest: = > 9

C) Swmallest: —9 < z < —10; Largest: 5< 7 <6
D) Smallest: 5< z < 6; Largest: 2> 9

Congratulations | You've finished math MCQs.
Please cross (x) Option E in the answer sheet corresponding to all unanswered MCQs.




ESSAY-I (Suggested time 20 minutes)
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Present your perspective on the issue below in three paragraphs, using relevant reasons and/or

examples to support your views based on your own readings, observations and experience.

Given the chance to study the BBA degree, how do you think you could contribute to any field
of yvour life?

ESSAY-IT (Suggested time 20 minutes)
The following appeared in a research paper written for an introductory economics course:

“For the past century, an increase in the number of residential building permits issued per month
in a particular region has been a reliable indicator of coming improvements to that region’s
economy. If the monthly number of residential building permits issued rises consistently for a
few months, the local unemployment rate almost always falls and economic production
increases. This well-established connection reveals an effective method by which a regional
government can end a local economic downturn: relax regulations governing all construction so
that many more building permits can be issued.”

Discuss how well reasoned you find this argument. In your discussion be sure to analyze the line
of reasoning and the use of evidence in the argument.
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